BEVAE 181

BLOCK 1 AN INTRODUCTION TO ENVIRONMENT STUDIES
UNIT 2 ECOSYSTEMS
COMPLETE UNIT 2 WITH MCQ

Hindi & English both

uifRufa® o= ) f6a wu & ufyifya fear mn @2

A. T3 IRy ®IM W ohad Siidl &1 998

B. Sfial 3R ITdTaRUI & S SHoif UaTg 3R It & Teh g Taa & O U Wi 3MR
3oifad Ter™

C. Had lfdd ddl &1 TG

D. Had 3ifdd dwl BT T

IR B - Sidl 3R IR0l & & ol YdTg 3R St =sh 1T Jga & 1Y Th
N3 3R 3rifds THem|

How is an ecosystem defined?

A. A group of only living organisms in‘a specific area

B. A biological and abiotic community with.energy flow and cycling of materials between
living and non-living parts

C. A group of only biotic elements

D. A group of only abiotic elements

Answer: B - A biological and abiotic community with energy flow and cycling of materials
between living-and non-living parts.

iikfRAfA®! a3 § ol b &1 1 7aad 82
A. el B R TG Y GTa

B. 3ol Bl [qaRUT 3R ITIRT

C. FoTl BT YUBUT 31K iR ITHT It

D. Sl BT 3EH-UEH 3R G; STIRT

FW: D - Soll BT HEH-UEH 3R G: STINT|

What does the energy cycle in an ecosystem refer to?
A. Permanent storage of energy

B. Distribution and use of energy

C. Storage of energy and its recovery

D. Exchange and reuse of energy

Answer: D - Exchange and reuse of energy.



Qe §TdT BT T P g2

A. Soll BT HSRUT

B. UGy =01

C. Sl &1 YdTg 3R UV dedl ol Ieh 1T T
D. Sifae T o1 TRefum

FW: C - Soll I YaTg 3R UV dcdl BT Iobid e |
What is the role of the food chain in an ecosystem?

A. Storage of energy

B. Pollution control

C. Flow of energy and cyclical movement of nutrients

D. Conservation of biotic components

Answer: C - Flow of energy and cyclical movement of nutrients.

yiRfRufa®T &1 o1 Sreaa= fg R smearfa 872
A. BT GTHS Iedhl IR

B. $ad HIATHP gch] U

C. TRET IR B gl R

D. $dd Sfdd Uch] W

JW: C - AT 3R S gHI R

On what is the study of‘an ecosystem based?
A. Only on structural components

B. Only on functional components

C. On both structure and function

D. Only on biotic components

Answer: C - On both structure and function.

fFafafaa 3 9 i @t ofidl &) o WisH 3t 391 & fore g 1 ot a6t
ATAIDH AT 6l glel?

A. 3dIgd (Autotrophs)

B. SUYIS (Consumers)

C. 3UYcdH (Decomposers)

D. Tft S

3R A - 3dlad (Autotrophs)
Which of the following organisms do not require sunlight to make their own food?
A. Producers (Autotrophs)



B. Consumers
C. Decomposers
D. All of the above

Answer: A - Producers (Autotrophs)

Qe ARAWOT & forT S A1 ufshar G & hT=T ST ST H el 872
A. IS TRATOT (Chemosynthesis)

B. USRI TRAWUT (Photosynthesis)

C. Y9I (Respiration)

D. it Sudad

IR B - THT FAYT (Photosynthesis)

Which process uses sunlight for food synthesis?
A. Chemosynthesis

B. Photosynthesis

C. Respiration

D. All of the above

Answer: B - Photosynthesis

YRS SUHIT (Primary consumers) P 59 U d ST \_SI'I?IT%?
A. HITERY (Carnivores)

B. YMHIERI (Herbivores)

C.aMIASRB

D. 9yt Iudaq
IR B - ATHIZRI (Herbivores)

Whatare primary consumers also known as?
A. Carnivores

B. Herbivores

C.BothAand B

D. All of theabove

Answer: B - Herbivores

DI T o9 gaX HiATe R &7 RIPR H3da1 8 3R 3/ WIS & U § @11 82
A. TTYTEes SUHTer

B. fgciae SuHiear

C. Jairged IuHId

D. Tt S



IW: B - fgdige Suie

Which organism preys on other carnivores and consumes them as food?
A. Primary consumer

B. Secondary consumer

C. Tertiary consumer

D. All of the above

Answer: B - Secondary consumer

T TR & SUHITT B T HT ST 82
A. TTBTERT (Herbivores)

B. HIGTERY (Carnivores)

C. Y e RY (Top Carnivores)

D. it Suded
IR B - HERI (Carnivores)

What are tertiary consumers also called?
A. Herbivores

B. Carnivores

C. Top Carnivores

D. All of the above

Answer: B - Carnivores

WTYFHS IUHFT & ISV B 82
A. I, 7T, fevor

B. 919, 2R, g

C. T, Teft

D. gl Swded

IR A=EDHR, T, fg=om

What are examples of primary consumers?
A. Goat, cow, deer

B. Tiger, lion, vulture

C. Chicken, bird

D. All of the above

Answer: A - Goat, cow, deer

uif¥fRAfa® o # ga sital @t Sfae arft &1 faged #3A ar sfital & @1 Fe1
STl 87
A. 3dlgd (Producers)



B. SUHIET (Consumers)

C. dUYCh (Decomposers)
D.GHFIA 3R B

3R C - AUYCH (Decomposers)

What are the organisms that decompose the organic matter of dead organisms in an
ecosystem?

A. Producers

B. Consumers

C. Decomposers

D. Both A and B

Answer: C - Decomposers

SQYCeP (Decomposers) WWW%’?
A. 3ol BT Tg4

B. AT &1 Tieh T 3R faeeq

C. STta o foTe YIS &1 IdTe

D. 9yt Iudaq

IR B - G &1 G T 3R fage
What is the role of decomposers?

A. Storage of energy

B. Recycling and breaking down of materials
C. Producing food for life

D. All of the above

Answer: B - Recycling.and breaking down of materials

%Eﬁfl"cﬁ (Heterotrophs) EFQTW??
A. 3T HISH BT IdTeT HId &

B. 31 Sfial A HISH UTed HRd &
C.aH A 3RB

D. I9dad H W ®Ig el

ITR: B - 39 ofial F HISH U $d &
What do heterotrophs do?

A. Produce their own food

B. Obtain food from other organisms

C. Both Aand B

D. None of the above



Answer: B - Obtain food from other organisms

Sifa® acdi @t YIeioh Ih 1T UshaT B T HET STl 872
A. ATYUCH dh

B. 4 IS I (Biogeochemical Cycle)

C. Sl ah

D. UIRTRUfPT <k

IR B - O1d IIAE I (Biogeochemical Cycle)

What is the process of recycling biological elements called?
A. Decomposition cycle

B. Biogeochemical cycle

C. Energy cycle

D. Ecological cycle

Answer: B - Biogeochemical cycle

St UIyes dcd Sildl & gRT9gd $H AT H Ta%a® gid &, 3¢ T el odl 872
A g&H UIy& dd (Micronutrients)

B. %0 UIN& dd (Macronutrients)
C. G Uy dd

D. it Sudad

SR A - J&H UIY& dcd (Micronutrients)

What are the nutrients-that are required by organisms in minute amounts called?
A. Micronutrients

B. Macronutrients

C. Mineral nutrients

D. Allof the above

Answer: A - Micronutrients

ftal & YRR BT TIHT 97% U forsd aedl | §7a1 872
A. FTa, IZS oM, RIS, ATSEIoH 3R BB IRY

B. T 3R DHiekd

C. 3R 3R FifRray

D. Tft S
JW: A - DI, RGO, 3o, Ao 3R HRBRY

Which elements make up approximately 97% of the body mass of living organisms?

A. Carbon, hydrogen, oxygen, nitrogen, and phosphorus
B. Sulfur and calcium




C. Iron and magnesium
D. All of the above

Answer: A - Carbon, hydrogen, oxygen, nitrogen, and phosphorus

Frafafad # | @19 91 9 91 N T sl & siia iR 3red Wy & i
SATIGP Bld 3, AP 3P MagHdT 9gd HH I H Bidl 82

A. BRIy

B. 3{TORA

C. ATSHIgfCUaH (Micronutrients)
D. 9yt Sudaq

I D - 9t S

Which of the following elements or nutrients are necessary.for the life.and good health
of organisms but are required in very small amounts?

A. Calcium

B. Iron

C. Micronutrients

D. All of the above

Answer: D - All of the above

oI 56 | Ut B FATferd gian 82

A. 995 Y argHed § arfidhrul & gRIT
B. Al ¥ argHed o ariahrul & gl
C. IHST I Jed} & Fdig WR a8 gRT
D. it Sudad

IULD - IH o

How does water moye in the water cycle?

A. Evaporation from oceans to the atmosphere

B. Evaporation from rivers to the atmosphere

C. Precipitation from the atmosphere to the Earth's surface
D. All of the above

Answer: D - All of the above

gt & HETHANRI § BT &1 fobraT fewar urar simar 82
A. 10 T[T 3Hf%h
B. 50 T[T 3{f¢h
C. 100 T[T 3{fdeh
D. 75 T[T 319



JTR: B - 50 T 3P

How much more carbon is found in the oceans compared to the atmosphere?
A. 10 times more

B. 50 times more

C. 100 times more

D. 75 times more

Answer: B - 50 times more

e b b SRI fpasit A § Ut &1 Saa= giar 22
A. TTHIT 0.004%

B. T+ 0.01%

C. TIHT 10%

D. TIHT 50%

3R A - olITHIT 0.004%

What percentage of the total water is cycled in the water cycle?
A. About 0.004%

B. About 0.01%

C. About 10%

D. About 50%

Answer: A - About 0.004%

ST I P SR auf frd SU A gl 82
A. Iuf 3R T

B. Had gy

C. ad 9%

D. gl Swded
IR AL TN 3RIP

In what forms does precipitation occur in the water cycle?
A. Rain and snow

B. Only rain

C. Only snow

D. All of the above

Answer: A - Rain and snow



SATRA S (WIRTT W) & STa- U= o1 gidl 872
A. BTE AT Bl 3

B. S1a U H gd STTdl §

C. HIe- SIEHFES (CO2) TgHed H el iaT ®
D. H18 URGd el g

I C - HIe- SRHRIZS (CO2) agHed | Relel 8T 8
What happens when fossil fuels are burned?

A. Carbon is absorbed

B. Carbon dissolves in water

C. Carbon dioxide (CO2) is released into the atmosphere

D. No change occurs

Answer: C - Carbon dioxide (CO2) is released into the atmosphere

5 0 & Brd ddl 3raf & fore osp & &A1 8 Ipd1 22
A. Saarg uRkacd_ |
B. Wfds Uerf & U &

C. IS HEHe & TUH

D. Ty & u H

IR C - WS HIEHC HEd H

In what form can carben.accumulate in the long term in the cycle?
A. In climate change

B. As organic matter

C. As mineral carbonates

D. Asgas

Answer: C -"As mineral carbonates

ATgc o I U ATgc o g U § Uil gIRT SUAT fHar v 82
A. ST

B. 3ccy 3R ATgersey

C. 3RiSH

D. HTa SZ3HRISS

I B - ey 3R A1Zerscy

In the nitrogen cycle, in what form is nitrogen utilized by plants?
A. Ammonia

B. Nitrates and nitrites



C. Oxygen
D. Carbon dioxide

Answer: B - Nitrates and nitrites

DI T SaT] ATgee a9 H Heg Hvdl 872
A. TIECIEY

B. T3clgdex

C. TZSifeaH

D. TR STH

IW: B - AZeIqaR

Which bacteria help in the formation of nitrates?
A. Nitrosomonas

B. Nitrobacter

C. Rhizobium

D. Clostridium

Answer: B - Nitrobacter

TSI T B B9 A s Smifrar &) Argergey H gead 82
A. TTSCIadeR

B. AN

C. IESIeaH

D. FRefead

IR B - ARCIHHIAT

Which bacteria convert. ammonia to nitrites in the nitrogen cycle?
A. Nitrobacter

B. Nitrosomonas

C. Rhizobium

D. Clostridium

Answer: B — Nitrosomonas

g fPRIRME F fore Hi I1 7 Aseifaud & A1y geoiid! Ty g-Tan
82

A. AT

B. TN STH

C. 3STaredex

D. WIS ferT



IR C - 3ellaidaex

Which bacteria form a symbiotic relationship with Rhizobium for nitrogen fixation?
A. Nitrosomonas

B. Clostridium

C. Azotobacter

D. Spirulina

Answer: C - Azotobacter

PR I H GebR BT 9ad g81 HSR P8l UTdT STl 872
A dgHEd |

B. qqal |

C. JaT 3R dase

D. Sftal & IRR A

IW: C - a1 iR dase o

Where is the largest reservoir of sulfur found in the sulfur cycle?
A. In the atmosphere

B. In the oceans

C. In the soil and sediments

D. In the bodies of organisms

Answer: C - In the soil and sediments

Tep3 T W e o1 Nl gRT fva wu & sra=nfya farar smar 82
A. eI TRTS (H2504)

B. Yehcy (S04-2)

C. B8 SISH YehI3 S (H2S)

D. GehR SRAHRISS (SO2)

IR B - Jahed (SO4-2)

In the sulfur cycle, in what form is sulfur absorbed by plants?
A. Sulfuric acid (H2S04)

B. Sulfates (SO4-2)

C. Hydrogen sulfide (H2S)

D. Sulfur dioxide (SO2)

Answer: B - Sulfates (S04-2)



B °h W e argasd | (69 A9 & ¥U A HiY[g gidT 87
A. eI TRTS (H2504)
B. EI3SIH YBT3 (H2S) 3R e STIHTRIZS (SO2)

C. M1 (NH3)
D. HTe STS3HHRZS (CO2)

IT: B - TZSIoH TehIgS (H2S) 3R Jehr SRATFZS (SO2)

In the sulfur cycle, in what form does sulfur exist in the atmosphere?
A. Sulfuric acid (H2S04)

B. Hydrogen sulfide (H2S) and sulfur dioxide (SO2)

C. Ammonia (NH3)

D. Carbon dioxide (CO2)

Answer: B - Hydrogen sulfide (H2S) and sulfur dioxide(S0O2)

PR aIgHSd § o UgdT 872

A. THERI & gRT

B. SATAE fawthie, SaTRd S &1 oo, T4& Hhade 3, SR 3fuee § ™1 &1
feefiet g

C. had T4l siiaq 9

D. $ad SIol-gfcdl ¥

I B - AT faeple, SiiarRy S &1 STaT, JH% & 9de ¥, 3R 3fgge J 41
1 Teitet g

How does sulfur reach the atmosphere?

A. Through snowfall

B. Volcanic eruptions, combustion of fossil fuels, from the surface of the ocean, and gases
released by decomposition

C. Only from marine life

D. Only from herbs

Answer: B - Volcanic eruptions, combustion of fossil fuels, from the surface of the ocean,
and gases released by decomposition

B I H fhd YR & oIy Mida & sraged & fow Srmer gd 82
A. TRIRRE R mifeaw (Rifse uRkfufaat #)

nN—-N

B. TSN 3R ATgcIdaRIeR

C. TSSNfegH 3R SrildiedeR
D. Wﬂ SﬁTAspergillus @ﬁmqﬁ‘@lﬁl@[f{)




3<R: D - Wﬂ 3R Aspergillus (Qﬁﬁmtlﬁfﬁlﬁiﬁﬂ)

Which type of bacteria are responsible for the decomposition of proteins in the sulfur
cycle?

A. Escherichia and Proteus (in aerobic conditions)

B. Nitrosomonas and Nitrobacter

C. Rhizobium and Azotobacter

D. Neurospora and Aspergillus (in anaerobic conditions)

Answer: D - Neurospora and Aspergillus (in anaerobic conditions)



